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Quiz 2—Friday, February 7 
 
A function 𝑓 is known to satisfy 
 

lim
௫→ଷ

𝑓ሺ𝑥ሻ ൌ 0. 
 
For each of the following, evaluate the indicated limit (if it exists) in simplified form; or 
state that the limit does not exist; or indicate whether not enough information is given to 
properly answer. 
 

(a)  lim
௫→ଷ

 ௙ሺ௫ሻାଶ
௙ሺ௫ሻିଵ

  = 
 
 
 
 

(b)  lim
௛→0

𝑓ሺ3 ൅ ℎሻ  = 
 
 
 
 

(c)  lim
௫→ଷ

 𝑥𝑓ሺ𝑥ሻ  = 
 
 
 
 
(d)  lim 

௫→ଷ
cos 𝑓ሺ𝑥ሻ  = 

 
 
 
 

(e)  lim
௫→ଷ

 ଵ
௙ሺ௫ሻ

  = 
 

 

Solutionkey

8 2 U.iethe limit laws

Ling fix 0 substitute x ht3
Ash O X 3

3 0 0 Usethe limit laws

cos0 d

It is impossible to determinethe limit
fromthe informationgiven Eg if fix ex 3 thenthelimitdoesnotexist If fix x35thenthelimit is
If eCx x 37 thenthe limit is If fix 0
then ft is not even defined


